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Railway Police SI and Constable Exam. Practice Set

1. (a) =® ¢yÁËyöì‹Äîû Ÿy¢„þ ¢›%o=öì®îû ¢¦þy„þ!î £!îû ö¡ì˜
~œy£yîy” ²ÌŸ!hßþ îû‰þ˜y „þöìîû̃ Ð ~öì“þ ¢›%o=öì®îû !”!@»‹öìëûîû
„þy!£˜# î!’Å“þ xyöìŠéÐ

2. (c) vþƒ îûyöì‹w ²Ì¢y” Rules of Procedure Committeeéôéîû
ö‰þëûyîû›Äy˜ !Šéöìœ˜Ð !“þ!˜ !Šéöìœ˜ ßþºy•#˜ ¦þyîûöì“þîû ²Ìí›
îûyÜTÉþ™!“þÐ 1962 ¢yöìœ !“þ!˜ ¦þyîû“þîûb myîûy ¢Á¿y!˜“þ £˜Ð

3. (c) ö¢y!vþëûy› ˜y£zöìÝþÆÝþ “þ#îÊ¦þyöìî vþz_® „þîûöìœ x!:öì‹˜ !˜†Å“þ
„þöìîû ˜yÐ ~!Ýþ ~„þ!Ýþ Çþyîû •y“%þ ˜y£zöìÝþÆÝþ œî˜ ~Šéyvþüyç !‰þ!œ
Salt Paper !£öì¢öìî þ™!îû!‰þ“þÐ

4. (b) ßþºy•#˜“þyîû ¢›ëû ¦þyîûöì“þîû ‹y“þ#ëû „þ‚öì@ùÌöì¢îû ¢¦þyþ™!“þ !Šéöìœ˜
ö‹. !î. „,þþ™y!œ˜#Ð !“þ!˜ ¢%öì‰þ“þy „,þþ™y!œ˜#îû ßþºy›# !Šéöìœ˜Ð

5. (a) !œÝþ›yöì¢îû vþzê¢ £œ ÷ŸîyœÐ ÷Ÿîyœ ‹œ‹ ¢%öì„þ!w„þ
~„þöì„þy¡ì# îy îýöì„þy¡ì# ‹#îÐ ëyîûy ¢yöìœy„þ¢‚öìÙÕöì¡ìîû ›y•Äöì›
Ÿ„Åþîûy ‹y“þ#ëû …y”Ä ÷“þ!îû „þöìîûÐ

6. (c) ¢Á±!“þ ö„þ !þ™ Ÿ›Åy ç!œ ö˜þ™yöìœîû ˜“%þ˜ ²Ì•y˜›sþf#
!£öì¢öìî !˜ë%_« £öìœ˜Ð

7. (a) vþz!qöì”îû ˜y£zöìÝþÆyöì‹˜!î£#˜ î‹ÅÄþ™”yíÅ £œ îû‹˜Ð ~!Ýþ è¡ì•–
îy! Å̃Ÿ ç ²Õy!ÞÝþ„þ ÷“þ!îûöì“þ îÄî£*“þ „þ!“þþ™ëû vþz!qöì”îû !˜ƒ¢,“þ
þ™”yíÅÐ “þîûœ !£¢yöìî !˜ƒ¢,“þ îû‹˜ Sþ™y£z̃  †yŠé öíöì„þV
îy“þyöì¢ ~öì¢ ‹yîûöì̃ îû šþöìœ „þ!àþ˜ xy„þyîû •yîû̃  „þöìîûÐ

8. (b) 647 !…ÊÞÝþyöì· £¡ìÅî•Åöì̃ îû ›,“%þÄîû þ™îû vþz_îû ¦þyîûöì“þîû ~„þ
!îhßþ#’Å x‚öìŸîû îûy‹÷ì̃ !“þ„þ ú„þÄ !î˜ÜT £öìëû ëyëûÐ !„þlsþ
ßþºy•#˜ îûyöì‹Äîû vþzêþ™!_ ‡öìÝþ– ~=öìœyîû ›öì•Ä îûy‹þ™%“þy˜y ç
›yœöìîÄîû ²Ì!“þ£yîû î‚Ÿ îy‚œyéô é!î£yöìî ûî û þ™yœ î‚Ÿ
vþzöìÍÔ…öìëy†ÄÐ ²Ì!“þ£yîû îûy‹ îê¢îûy‹ îûy‹þ™%“þy˜y ç
›•Ä¦þyîûöì“þ xy!•þ™“þÄ !îhßþyöìîûîû þ™îû þ™)îÅ!”öì„þ îûy‹Ä!îhßþyöìîû
vþzöì”Äy†# £˜Ð

9. (a) ¢îÅ¦þyîû“þ#ëû „,þ“þÄ„þ xy£z̃  1951 !…ÊÞÝþyöì· xœ £z!uþëûy ¢y!¦Åþ¢
²Ì!“þÛþy „þöìîûöìŠéÐ £zvþz!˜ëû̃  ~î‚ îûy‹Ä=!œîû ‹˜Ä ¢y•yîû’¦þyöìî
!˜!…œ ¦þyîû“þ þ™!îûöì¡ìîy=!œöì“þ !˜öìëûy† ~î‚ !˜öìëûy†²Ìy®
îÄ!_«öì”îû þ™!îûöì¡ìîyîû Ÿ“Åþy!” !˜ëûsþföì’îû ‹˜Ä ~„þ!Ýþ xy£z̃ Ð

10. (c) œvÅþ vþyœöì£ï!¢ ²Ìî!“Åþ“þ ßþºc!îöìœyþ™ ˜#!“þ ¢îÅ²Ìí› ²Ìöìëûy†
„þîûy£ëû ¢y“þyîûyöì“þÐ

11. (d) ¦þyîûöì“þ ¦)þ!› ¢‚ßþñyöìîûîû ¢îÅy!•„þ =îû&cþ™)’Å œÇþÄ £œ ”%œÅ¦þ
‹!› ¢Á™öì”îû xyîûç ë%!_«ë%_« îÄî£yöìîûîû îÄîßþiy „þîûyÐ
‹!› ö£y!Óþ‚=!œöì“þ ö£y!Óþ‚¢– !¢!œ‚öìëûîû Ÿ“Åþ þ™!îûî“Åþ˜
„þöìîû ~!Ýþ „þîûy öëöì“þ þ™yöìîûÐ ~!Ýþ ‹!›– ×› ~î‚ ›)œ•öì̃ îû
ö„þy˜ç xþ™‰þëû ˜y „þöìîû ¢îöì‰þöìëû öî!Ÿ xíÅ÷ì̃ !“þ„þ þ™kþ!“þöì“þ
xyîy” ²Ì!e«ëûy!Ýþöì„þ ¢£yëû“þy „þöìîûÐ

Answer with Explanation
12. (a) îûîyÝÅþ ö‹îûyvÅþ îûy!¦þ ¢Á±!“þ ¦þyîû“þ ¢Mþéyîû !˜†öì›îû

!œ!›öìÝþöìvþîû ›Äyöì˜!‹‚ !vþöìîûQîû ~î‚ ö‰þëûyîûþ™y¢Å̃  !£öì¢öìî
!˜ë%_« £öìœ˜Ú

13. (b) îûyÜTÉþ™!“þ ë!” ¢lsþÜT £˜ öë ö”öìŸîû x¦þÄhsþöìîû ö„þyöì̃ y x‚öìŸîû
xy!íÅ„þ xîßþiy ¢‚„þÝþþ™§¬ “þy£öìœ !“þ!˜ xíÅ÷ì̃ !“þ„þ ‹îû&îû#
xîßþiy ö‡y¡ì’y „þîûöì“þ þ™yöìîû̃  360 •yîûy x˜%ëyëû#Ð

~…˜ç þ™ëÅhsþ ~„þîyîûç xíÅ÷ì̃ !“þ„þ ‹îû&îû# xîßþiy ‹y!îû
„þöìîû!˜Ð

14. (b) îû*þ™y !˜ÜñyŸöì̃  ¢yëûy˜y£zvþ þ™kþ!“þ îÄî£*“þ £ëûÐ

15. (b) ”y!‰þ†y› ‹y“þ#ëû vþz”Äy˜ ‹Á¿% ç „þyÙÂ#öìîû xî!ßþi“þÐ

16. (c) ¢)ëÅîû!ÙÂ îy“þyöì¢îû ¢)" •)!œ„þ˜yîû myîûy !î!Çþ® £öìëû ‰þy!îû!”öì„þ
Šé!vþüöìëû þ™öìvþüÐ ¢)ëÅîû!ÙÂîû 7!Ýþ îöì’Åîû xyöìœy„þ îû!ÙÂîû ›öì•Ä
˜#œîöì’Åîû xyöìœyîû “þîûD ÷”‡ÅÄ „þ›Ð “þy£z ˜#œîöì’Åîû xyöìœy„þ
îû!ÙÂ îyëû%›[þöìœîû !îîûyÝþ hßþîûöì¦þ” „þöìîû xy›yöì”îû ö‰þyöì… öþ™¤ïŠéyëû
“þy£z xy›îûy xy„þyŸöì„þ ˜#œ ö”!…Ð

17. (c) ßþ™#„þyîû öœy„þ¢¦þyîû „þyëÅ þ™!îû‰þyœ˜y „þöìîû̃ Ð Ÿ,Cœy î‹yëû
îûyöì…˜ öœy„þ¢¦þyîû ›%…þ™ye– îûyÜTÉþ™!“þ ç öœy„þ¢¦þyîû ›öì•Ä
öëy†¢)e ßþiyþ™˜ „þöìîû˜Ð ¢‚¢öì” ö¦þy!Ýþ‚éôé~îû ›y•Äöì›
¢y‚¢”öì”îû ~„þ‹˜ ßþ™#„þyîû !˜îÅy!‰þ“þ £˜Ð

18. (c) ¢Á±!“þ ö†ï“þ› †½þ#îû ¦þyîû“þ#ëû !e«öì„þÝþ ”öìœîû ˜“%þ˜ ö„þy‰þ
!£öì¢öìî !˜ë%_« £öìœ˜Ð

19. (b) 1952 ¢yöìœîû 6 xy†ÞÝþ †!àþ“þ £ëû ¦þyîûöì“þîû ‹y“þ#ëû vþz§¬ëû̃
þ™!îû¡ì”Ð ëyîû ›)œ vþzöìjŸÄ !Šéœ îûy‹Ä ¢îû„þyîû=!œîû ¢öìD
þ™!îû„þÒ˜y „þ!›Ÿöì̃ îû ¢›§ºëû ¢y•öì̃ îû ›y•Äöì› xíÅ÷ì̃ !“þ„þ
„þ›Å¢)‰þ# îyhßþîy!ëû“þ „þîûyÐ

20. (c) NABARD ²Ì!“þ!Ûþ“þ £ëû 12 ‹%œy£z 1982 ¢yöìœÐ

21. (b) ~£z ˜”#!Ýþ Gþyvþü…öì[þîû £y‹y!îûîy† ö‹œyîû „þyöìŠé þ™py ~œy„þyëû
vþzêþ™§¬ £öìëûöìŠéÐ ~îûþ™îû ~!Ýþ öŠéyÝþ˜y†þ™%îû ›yœ¦)þ!›îû vþz_îû
¦þy† !”öìëû 225 !„þ!› S140 ›y£zœV ²Ìîy!£“þ £öìëû
þ™!Øþ›îöìDîû î#îû¦)þ› ç î•Å›y˜ ö‹œyîû !”öìŸîû†vþüéôé~îû „þyöìŠé
”yöì›y”îû ˜öì” !›!œ“þ £öìëûöìŠéÐ

22. (a) 343 ˜‚ •yîûy­ ö„þöìwîû ¢îû„þyîû# ¦þy¡ìy (Official
Language of the Union)

350 ˜‚ •yîûy­ ›y“,þ¦þy¡ìy (Mother Language)

351 ˜‚ •yîûy­ !£!¨ ¦þy¡ìyîû vþz§¬ëû̃ Ð

23. (a) ö›ï!œ„þ x!•„þyîû îœîê „þîûyîû ‹˜Ä ˜y†!îû„þ†’ ¢%!²Ì›
ö„þyöìÝÅþîû „þyöìŠé xyöìî”˜ „þîûöì“þ þ™yöìîû 32S1V •yîûyÐ ~£z
x!•„þyîû îœîê „þîûyîû ‹˜Ä ¢%!²Ì› ö„þyÝÅþ þ™¤y‰þ •îûöì̃ îû öœ…
SWritsV ‹y!îû „þîûöì“þ þ™yöìîûÐ

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å



xÄy!‰þ¦þy¢ Åî¡ìÅ éôé 12– £z¢%Ä éôé 5  ö¢öì²WzÁºîû– 20242

24. (c) ¢Á±!“þ ²Ì!“þîõþ# îÄ!_«öì”îû vþz§¬!“þ ¢y•öì˜îû vþzöìjöìŸÄ
Enable Me Access Association !vþþ™yÝÅþöì›rÝþ xšþ
~Á™yçëûyîûöì›rÝþ xšþ þ™y¢Å˜¢ vþz£zí !vþ‹öìëû!î!œ!Ýþ‹
SDEPWDVéôé~îû ¢öìD ›vþz ßþºyÇþîû „þîûœÐ

25. (c) !‰þÍñy £É” ç!vþŸyöì“þ xî!ßþi“þÐ ~!Ýþ ~„þ!Ýþ {¡ìê ö˜y˜y ‹öìœîû
vþzþ™£É” ëy ¦þyîûöì“þîû þ™)îÅ þvþzþ™„)þöìœ xî!ßþi“þÐ ~!Ýþ ~„þ!Ýþ xßþiyëû#
£zvþzöì̃ öìßþñy ú!“þ£Äîy£# ßþiy˜ !£¢yöìî “þy!œ„þy¦)þ_« „þîûy £öìëûöìŠé
1 xöìQyîîû 1981 ¢yöìœÐ

26. (a) ßþºy•#˜ ¦þyîûöì“þ ²Ìí› Law Commission †àþ˜ „þîûy £ëû
1955 ¢yöìœÐ

27. (b) œÄyöìÝþîûy£zÝþ ›y!Ýþ
 „þ’ÅyÝþ„þ– ö„þîûœ– vþz!vþü¡ìÄy– xõÉþ²Ìöì”Ÿ– öŠéyÝþ˜y†þ™%îû ›yœ¦)þ!›

²Ì¦,þ!“þ xMþéöìœ ö”…y ëyëûÐ
 œÄy!Ýþ˜ Ÿ· œÄyÝþyîû Ÿöì·îû xíÅ £zÝþÐ
 ~£z ›y!Ýþöì“þ öœy£y ç xÄyœ%!›!˜ëûy› x:y£zöìvþîû þ™!îû›y’

öî!Ÿ íyöì„þÐ
 „þy‹%îy”y›– ‰þy ~£z ›y!Ýþöì“þ ¦þyöìœy šþ!œ“þ £ëûÐ

28. (d) ~!Ýþ ¦þÄy!îûöì¢œy ˜yöì› þ™!îû!‰þ“þ– ~!Ýþ ö¦þ!îûëûyœ ö‹yÞÝþyîû
¦þy£zîûy¢ SV2VV myîûy ²Ìyí!›„þ ¢‚e«›öì’îû šþöìœ ¢,ÜT ~„þ!Ýþ
x“þÄhsþ ¢‚e«y›„þ öîûy†Ð

29. (b) 71 ˜‚ •yîûyëû îûyÜTÉþ™!“þ– vþzþ™îûyÜTÉþ™!“þ !˜îÅy‰þ˜ ¢‚e«yhsþ
!îöìîûyöì•îû ›#›y‚¢y £öìî ¢%!²Ì› ö„þyöìÝÅþîû ›)œ ~œy„þyëûÐ

30. (d) £zrÝþyîû˜ÄyŸ˜yœ övþ xšþ öëy†yéôé2024 ~îû !í› !Šéœéôôôé
Yoga for Self and Society.

31. (a) ¢Äyîû öî˜†yœ ˜îû!¢‚ îûyvþz !“þ!˜ !Šéöìœì̃  ~„þ‹˜ ¦þyîû“þ#ëû
x¢y›!îû„þ „þ›Å‰þyîû#– xy£z̃ !î”– „)þÝþ˜#!“þ„þ ~î‚ îûyÜTÉ̃ yëû„þÐ
!“þ!˜ 1950éôé1952 þ™ëÅhsþ ‹y!“þ¢‚öì‡îû ¢%îûÇþy „þyvþz!ªöìœ
¦þyîûöì“þîû ²Ì!“þ!˜!• !Šéöìœ˜Ð

32. (c) ö†ï“þ› î%öìkþîû þ™%e îûyýœ– ›y“þy ›yëûyöì”î#– !þ™“þy Ööìkþy•˜
ö˜þ™yöìœîû “þîûy£z xMþéöìœîû „þ!þ™œyîlßþ îûyöì‹Äîû œ%!Áº̃ # vþz”Äyöì̃
Ÿy„þÄ ˜y›„þ Çþ!eëû îûy‹ þ™!îûîyöìîû ‹§Ã@ùÌ£’ „þöìîû̃ Ð

33. (d) ö†y…öìœ œÇþÄ þ™)îûöì’îû vþzöìjöìŸÄ ”%!Ýþ ›)œ xy”öìŸÅ !îÙ»y¢
„þîûöì“þ˜Ð ¢!£‚¢“þy î‹Å̃  ç ¢îû„þy!îû ¢‚ßþiyîû ›öì•Ä öíöì„þ
¢‚ßþñyîû ¢y•˜Ð !“þ!˜ ‰þîû›þ™sþi# !Šéöìœ˜ ˜yÐ

34. (b) ¦þyîû“þ#ëû xíÅ̃ #!“þöì“þ ~œ ö„þ Gþy „þ!›!Ýþîû ¢%þ™y!îûöìŸ 1976
¢yöìœ ›)œÄë%_« „þîû ‰þyœ% £ëûÐ

35. (c) !šþ¢„þÄyœ öîû¢þ™˜!¢!î!œ!Ýþ xÄyuþ îyöì‹Ýþ ›Äyöì˜‹öì›rÝþ
xÄyQ SFRBMAV îûy‹öì„þy¡ì ‡yÝþ!“þ ç îûy‹ßþº ‡yÝþ!“þ vþz¦þëû
¢yöìí ¢Á™„Åþë%_«Ð

36. (c) îûy‹ßþº ”yëûîkþ“þy ~î‚ îyöì‹Ýþ þ™!îû‰þyœ˜ xy£z̃ – SFRBM
ActV 2003 xy!íÅ„þ ‡yÝþ!“þ £Éy¢ „þîûöì“þ xy!íÅ„þ Ÿ,Cœy
²Ì!“þÛþy „þöìîûÐ

FRBM Actéôé~îû ¢îÅöìŸ¡ì !î•y˜=!œîû ›öì•Ä ¢îû„þyîûöì„þ
îœy £öìëûöìŠé öë xy!íÅ„þ ¢‚„þÝþ 37, GDPéôé~îû ¢#›yîkþ
„þîûy 31 ›y‰Åþ 2021 ¢yöìœîû ›öì•ÄÐ

37. (d)  ÷„þ!Ÿ„þ !e«ëûy ›£y„þöì¡ìÅîû ›öì“þy î!£îûy†“þ Ÿ!_«îû ¢£yëû“þy
Šéyvþüy£z ¢‚„þ#’Å ßþiy˜=!œöì“þ “þîûœ ²Ìîy!£“þ „þîûyîû Çþ›“þy
îûyöì…Ð

 ~îû ²Ì¦þyöìî öþ™£zrÝþ îÊyöìŸîû ‰%þöìœîû ›öì•Ä “þîûœ x¤y„þöì“þ–
þ™y“þœy ˜öìœîû ›öì•Ä „þy†‹ ~î‚ ²ÕyÞÝþyöìîûîû ›öì“þy !Šéoë%_«
vþzþ™„þîû’=!œöì“þ îyœ% ~î‚ “þîûœ „þyîÅ̃  šþy£zîyöìîûîû ›öì“þy
!„þŠ%é xéôé!Šéoë%_« þ™”yöìíÅ îy ~îû ›öì•Ä ö”…y ëyëûÐ ~„þ!Ýþ
÷‹!î„þ ö„þy¡ì ~„þ!Ýþ “þîûœ ~î‚ xyöìŸþ™yöìŸîû Ÿ_«
“þîûœ=!œîû ›öì•Ä xyhsþƒ xy’!î„þ xy„þ¡ìÅ’ Ÿ!_«îû „þyîûöì’
‡öìÝþ íyöì„þÐ

38. (b) ~£z „þ›Å¢)‰þ# Öîû& £ëû 1961 ¢yöìœ ëyîû ²Ì•y˜ vþzöìjŸÄ !Šéœ
}’– îûy¢yëû!˜„þ ¢yîû– î#‹ ç „,þ!¡ì ësþfþ™y!“þîû ›“þ x!“þ
²Ìöìëûy‹˜#ëû vþzþ™„þîû’=!œîû ¢îûîîûy£Ð

39. (d) †yõþ#!‹ ßþºöì”Ÿ# xöì¨yœöì˜ x‚Ÿ@ùÌ£’ „þöìîû˜!˜Ð ~£z
xyöì¨yœöì˜îû vþzê¢ !Šéœ 1905 ¢yöìœîû îD¦þD!îöìîûy•#
†’‹y†îû’Ð xyöì̈ yœöì̃ îû îû’öì„þïŸöìœîû xhsþ†Å“þ !Šéœ S!îÊ!ÝþŸ
þ™’Ä îëû„þÝþ ~î‚ ö”Ÿ#ëû !ŸÒ ç vþzêþ™y”˜ ²Ì!e«ëûyîû
vþz§¬!“þ¢y•˜Ð

40. (a) þ™”yíÅ!îKþyöì̃  “þîûD ÷”‡ÅÄ £œ þ™ëÅyëûe«!›„þ “þîûöìDîû xy„þyîû!Ýþ
öë ”)îûc!Ýþîû vþzþ™öìîû þ™%̃ îûyî,!_ „þöìîû “þyîû ”)îûcÐ

41. (a) îûy‹y ²Ìí› îûyöì‹w ö‰þyœ S†yDy£zöì„þyuþy ö‰þyœV S1012éô
é1044 !…ÊÞÝþy·VÐ

42. (d) 10 ‹%œy£z ˜ÄyŸ˜yœ !šþŸ šþy›Åy¢Å övþ þ™y!œ“þ £œÐ

43. (b) 29 ç 30 ˜Áºîû •yîûyÐ

44. (b) ¢îöì‰þöìëû îvþü œ!¢„þy @ùÌ!sþiîû ˜y› ²Õ#£yÐ

45. (d) šþy‹ ¦þy£zîûy¢ £œ ~„þ!Ýþ vþzþ™„þyîû# ¦þy£zîûy¢Ð

46. (d) xyœšþy „þ’y !îFŠ%éîûöì’îû þ™îû#Çþy!Ýþ „þöìîû!Šéöìœ˜ xyöì˜ÅÝþ
îûy”yîûöìšþyvÅþÐ

47. (d) CH
3
CH

2
COOH ~îû IUPAC ˜y› ö²Ìyþ™yöì̃ y!ëû„þ xÄy!¢vþÐ

48. (c) xÄyöìrÝþ!˜ç „þhßþy ¢Á±!“þ £zvþzöìîûyþ™#ëû „þyvþz!ªöìœîû ˜“%þ˜
¢¦þyþ™!“þ !£öì¢öìî !˜îÅy!‰þ“þ £öìœ˜Ð

49. (a) „þyîÅöì̃ îû „þÄy!Ýþöì˜Ÿ˜ •öì›Åîû ‹˜Ä Ÿ,C!œ“þ öëï† †!àþ“þ £ëûÐ

50. (c) šþîû›Äyœ!vþ£y£zöìvþîû ¢yöìí öšþ˜öìœîû !î!e«ëûyëû îÄyöì„þœy£zÝþ
²Õy!ÞÝþ„þ ÷“þ!îû £ëûÐ

51. (c) xyëû“þöìÇþöìeîû ÷”‡ÅÄ
1

10
2
   
 

 ö¢!› = 5 ö¢!›

2 2 2 2 2BC (AC AB ) (10) (5)   
(100 25) 75  

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
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BC 75 5 3   ö¢!›

xyëû“þöìÇþe!Ýþîû öÇþešþœ

AB BC (5 5 3)     î†Åöì¢!›

25 3  î†Åöì¢!›

D C

A B
5 ö¢!›

10 ö¢!›

52. (b) ¢îûœ ¢%” 1000 5 2
100

100

    
 
` `

‰þe«î,!kþ ¢%”
2

5
1000 1 1000

100

        
   

`

21 21
1000 1000

20 20

       
  

`

205
102.50

2
   
 
` `

!˜öì’Åëû þ™yíÅ„þÄ (102.50 100) 2.50  ` `

53. (d) ¢%öì”îû £yîû 5% îy!¡ìÅ„þ– ¢›ëû
3

12
  îŠéîû

1

4
 îŠéîû

¢îûœ ¢%” = `25

›)œ•˜
1 4

100 25 2000
5 1

      
 
` `

54. (a) !˜öì’Åëû x˜%þ™y“þ
448 (448 110)

:
8 9




558
56 : 56 : 62 28 : 31

9
  

55. (d) •!îû B îÄî¢y Öîû& £çëûyîû x ›y¢ þ™öìîû öëy†”y˜ „þöìîû–
“þy£öìœ A ~î‚ éBôé~îû ›)œ•öì̃ îû x˜%þ™y“þ
= (45000 × 12)) : 54000 × (12 – x)
= (5 × 12) : 6 × (12 – x) = 60 : (72 – 6x)

60 2
144 12x 60

72 6x 1
    


 12x = 84  x = 7

¢%“þîûy‚ îÄî¢y Öîû& £çëûyîû 7 ›y¢ þ™öìîû B îÄî¢yëû öëy†”y˜
!”öìëû!ŠéœÐ

56. (a) •!îû– xÄyœöì„þy£œ = 3 ~„þ„þ ~î‚ ‹œ = 1 ~„þ„þ
¢%“þîûy‚ ö›yÝþ !›×’ = 4 ~„þ„þ

•!îû– xéôé~îû öíöì„þ ~„þ„þ !›×’ öîîû „þöìîû ö”çëûy £œÐ

“þy£öìœ– x ~„þ„þ !›×öì’ xÄyœöì„þy£œ
3x

4
   
 

 ~„þ„þ ~î‚

‹œ
x

4
  ~„þ„þ

~…˜ ²Ìy® !›×öì’ x ~„þ„þ ‹œ öëy† „þîûyîû þ™îû
˜“%þ˜ !›×öì’ xÄyœöì„þy£œ

3x (12 3x)
3

4 4

    
 

 ~„þ„þ ~î‚

‹œ
x 3x (4 3x)

1 x 1
4 4 4

           
   

 ~„þ„þ

12 3x 4 3x
12 3x 4 3x

4 4

 
     

4 ~„þ„þ öíöì„þ öîîû „þîûy !›×’ 4

3
  ~„þ„þ

1 ~„þ„þ öíöì„þ öîîû „þîûy !›×’

4 1 1
1

3 4 3
     
 

 ~„þ„þ

57. (c) •!îû 16 ~î‚ 24 ~îû “,þ“þ#ëû x˜%þ™y“þ x “þy£öìœ–
16 : 24 : : 24 : x  16 × x = 24 × 24

24 24
x 36

16


  

¢%“þîûy‚ 16 ~î‚ 24 ~îû “,þ“þ#ëû x˜%þ™y“þ £œ 36

58. (b) •!îû– ‡!vþüîû ²Ìyí!›„þ e«ëû›)œÄ = x Ýþy„þyÐ

“þy£öìœ– ~îû !îe«ëû›)œÄ
120 6x

x
100 5

    
 

 Ýþy„þyÐ

˜“%þ˜ e«ëû›)œÄ = (x – 100) Ýþy„þy–

˜“%þ˜ !îe«ëû›)œÄ
6x 6x 500

100
5 5

        
   

 Ýþy„þyÐ

x!‹Å“þ œy¦þ = 25%

125 (6x 500)
(x 100)

100 5


   

5
(x 100)

4
  

(6x 500)

5




25(x 100) 4(6x 500)   

(25x 24x) (2500 2000) x 500     

¢%“þîûy‚ ‡!vþüîû ²Ìyí!›„þ ›)œÄ = 500 Ýþy„þyÐ

59. (a) !îe«ëû›)œÄ = 720 Ýþy„þy– Çþ!“þ = 25%

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å



xÄy!‰þ¦þy¢ Åî¡ìÅ éôé 12– £z¢%Ä éôé 5  ö¢öì²WzÁºîû– 20244

e«ëû›)œÄ 100
720

75
   
 

 Ýþy„þy = 960 Ýþy„þy

~…˜– e«ëû›)œÄ = 960 Ýþy„þy– œy¦þ = 25%

 !îe«ëû›)œÄ
125

960
100
   
 

 Ýþy„þy = 1200 Ýþy„þy

60. (a) ‰þe«î,!kþ ¢%”y¢œ (15000 2496) 17496  ` `

2
R

15000 1 17496
100

    
 

2 2
R 17496 729 27

1
100 15000 625 25

          
   

R 27 R 27 2
1 1

100 25 100 25 25
            
   

2
R 100 8

25
     
 

¢%“þîûy‚ ¢%öì”îû £yîû 8% îy!¡ìÅ„þ
61. (a) •!îû îûyöì„þöìŸîû îëû¢ = 4x îŠéîû

~î‚ öëyöì†öìŸîû îëû¢ = 3x îŠéîû

4x 3x 28 7x 28 x 4      

16 îŠéîû þ™öìîû ~öì”îû îëûöì¢îû x˜%þ™y“þ £öìî

4x 16 (4 4 16) 32 8
8 : 7

3x 16 (3 4 16) 28 7

  
    

  

62. (d) •!îû ›)œ ¦þ@Ày‚Ÿ
x

y

“þy£öìœ– 2x y 2 2x y 2    

~î‚
x 3 2

y 3 3






3x 9 2y 6 3x 2y 3       

(i) ö„þ 3 !”öìëû ~î‚ (ii) ö„þ 2 !”öìëû =’ „þöìîû !îöìëûy†
„þîûöìœ ƒ

(6x 3y) (6x 4y) 6 6 y 12      

2x 12 2 2x 14 x 7     

x“þ~î !˜öì’Åëû ¦þ@Ày‚Ÿ
7

12


63. (a) ›öì̃  „þ!îû 11“þ› £z!˜‚öì¢îû †vþü îûy˜ ¢‚…Äy = x

10“þ› £z!˜‚¢ þ™ëÅhsþ †vþü îûy˜ ¢‚…Äy = (x – 6)
 11x – 10(x – 6) = 108  x = 48

64. (b) 2 2 9 25
cosec A (1 cot A) 1

16 16
      
 

25 5 4
cosecA sin A

16 4 5
    

4
1

1 sin A 1 15
41 sin A 9 31
5

       
   

 

65. (d) ßþ™ÜT“þ£z AOB 2 ( ACB) (2 40º ) 80º      

66. (b)
1

a
2
  vþzF‰þ“þy 23

a
4

  vþzF‰þ“þy
3

a
2

 
   
 

3 6 2
a 6 a 2 2

2 3


     

¢%“þîûy‚ öÇþešþœ 23
(2 2)

4

    
  

 ö¢!›2

3
8

4

 
   
 

 ö¢!›2 (2 3)  ö¢!›2

67. (b) ö”çëûy xyöìŠé
35

r
2

  ö¢!› ~î‚

h = (1.2 × 100) ö¢!› = 120 ö¢!›
þ™,Ûþ“þöìœîû öÇþešþœ = 2 rh

22 35
2 120

7 2
     
 

 ö¢!›2 = 13200 ö¢!›2

68. (a) ²Ì”_ îûy!Ÿ
cos58º sin 42º

sin (90º 58º ) cos(90º 42º )
 

 

cos38ºcosec(90º 38º )

tan18º tan (90º 18º ).tan 45º






cos58º sin 42º cos38º.sec38º

cos58º sin 42º tan18º.cot18º.1
  

1
1 1 (2 1) 1

1
       
 

69. (c) þ™y“þ!Ýþîû öÇþešþœ = ŸB%þîû ¢›@ùÌ“þöìœîû öÇþešþœ
2( rl r )   

~…˜
r = 7 ~î‚ h = 24  l2 = (r2 + h2) = (49 + 576)
= 625

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
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l 625 25  

þ™y“þ!Ýþîû öÇþešþœ
2( rl r ) r(l r)      

22
7 (25 7)

7
      

 þö¢!›2 = 704 ö¢!›2

70. (b) 2 27sin 3cos 4  
2 2 24sin 3sin 3cos 4    
2 2 24sin 3(sin cos ) 4    

2 2 2 1
4sin 3 4 4sin 1 sin

4
        

2 2 1 3
cos (1 sin ) 1

4 4
         
 

2
2

2

sin 1 4 1 1
tan tan

cos 4 3 3 3

            

71. (b) ²Ì!“þ!Ýþ xhsþƒöì„þy’ = 108º

²Ì!“þ!Ýþ î!£ƒöì„þy’ = (180º – 108º) = 72º
¢›hßþ î!£ƒöì„þyöì’îû ¢›!ÜT = 360º

îyýîû ¢‚…Äy
360

5
72

 

72. (a)
3 5

1 5 8 2
1 2

1 7 9 31
2


 ~îû

3 5
1 5 8 31
1 7 9 8
2

 
   
 

~îû

3 5 5 21
5 21

5 1 53 5
7 3 21

     


73. (b) !˜öì’Åëû %

14 1400
100 % % 155.6% 156%

9 9
      
 

74. (b) îy!vþü ¦þyvþüy ~î‚ …yîyîû îyî” ö›yÝþ …îû‰þ
= ` (25000 ~îû 59%)

59
25000 14750

100
    
 
` `

75. (a) S!ŸÇþy…yöì“þ …îû‰þV ƒ S…yîyîû …yöì“þ …îû‰þV
= 15 : 45 = 1 : 3

76. (d)
3

3 3
3

1 1 1 1
x 2 x 3x. x 8

x x x x
                
     

3 3
3 3

1 1
x 3 2 8 x 2

x x
       

77. (a) •!îû !ßþiîû ‹öìœ †!“þ = x !„þ!›/‡ ù̂Ýþy ~î‚ ”)îûc = y !„þ!›Ð

“þy£öìœ
y 2y 1 2

(x 2) (x 2) (x 2) (x 2)
  

   

2x 4 x 2 x 6     

 !ßþiîû ‹öìœ †!“þ = 6 !„þ!›/‡ ù̂Ýþy

78. (a) öÝþÆöì̃ îû †!“þ
5

60
18

   
 

 !›Ýþyîû/ö¢öì„þuþ

50

3
  !›Ýþyîû/ö¢öì„þuþ

•!îû ö›yÝþ ÷”‡ÅÄ = x !›Ýþyîû

”)îûc
¢›ëû

¢›ëû=
(125 x)

30
(50 / 3)


 

125 x 500 x 375    

¢%“þîûy‚ ö›yÝþ ÷”‡ÅÄ = 375 !›ÝþyîûÐ

79. (c) x 1 x 1 x 1 22 2 320 2 (1 2 ) 320      
x 1 x 1 65 2 320 2 64 2      

x 1 6 x 7    
80. (c) 20, 28, 32, 35 ~îû œ.¢y.=. = (4 × 7 × 5 × 8)

= 1120

 !˜öì’Åëû ¢‚…Äy = (5834 – 1120) = 4714

4 20, 28, 32, 35
7 5, 7, 8, 35
5 5, 1, 8, 5

1, 1, 8,  1

81. (a) •!îû e«ëû›)œÄ x% þ™!îû›y’ îy!vþüöìëû ö”çëûy £œÐ

10x
20 x 10

100
    

90x
30

100


30 100 1
x 33 %

90 3


 

82. (c) xÄy!¢vþ ­ ‹œ ö›yÝþ
    [3, 5, 8 éôé~îû œ.¢y.=. 120]

²Ìí› = 2 : 1 = 3

!m“þ#ëû = 3 : 2 = 5

“,þ“þ#ëû = 5 : 3 = 8

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å



xÄy!‰þ¦þy¢ Åî¡ìÅ éôé 12– £z¢%Ä éôé 5  ö¢öì²WzÁºîû– 20246

•!îû ²Ìöì“þÄ„þ ²Ì„þyîû !›×’ öíöì„þ 120 !œÝþyîû “%þöìœ ö˜çëûy
£œÐ “þy£öìœ– ˜“%þ˜ !›×öì’

xÄy!¢vþ ­ ‹œ
²Ìí› = 80 : 40

!m“þ#ëû = 72 : 48

“,þ“þ#ëû = 75 : 45

227 : 133

‹œ ­ xÄy!¢vþ = 133 : 227

83. (b) •!îû ¢îÅ!˜Á¬ îûy˜ = x

¢öìîÅyF‰þ îûy˜ x + 157

27 £z!˜‚öì¢ ö›yÝþ îûy˜ = 47 × 27 = 1269

1050
42 25

219
   x x 157 219  

2x = 62 x = 31

¢öìîÅyF‰þ îûy˜ = 157 + 31 = 188

84. (b)
1 5 1

5a 5 3a 5
3a 3 5a

      
 

2
21

3a 3
5a

    
 

2
2 1 1

(3a) 2.3a. 9
5a 5a
     
 

2
2

1 6 39
9a 9

25a 5 5
    

85. (d)
2 1 1 3

2x 3 x 3 x
x x x 2

         
 

3
3

3

1 27 1 1 27
x x 3 x

x 8 x x 8
             
   

3
3

1 3 27
x 3.

x 2 8
   

3
3

1 27 9 27 36
x

x 8 2 8


    

3
3

1 9 7
x 2 2

x 8 8
     

86. (d)

87. (c) A + B + E  1 + 2 + 5 = 8

~£zîû„þ›– K + L + O  11 + 12 + 15 = 38

þ™!‹Ÿ˜ ˜Áºöìîûîû öëy†šþœÐ
88. (d) 86-99 Šéyvþüy îy!„þ=!œ 8 ç 9 ~îû x˜%þ™y“þÐ

89. (c) G
–2

E
–2

C
–2

A

P
–2

N
–2

L
–2

J

T
–2

R
–2

P
–2

N

!„þlsþ– V
–1

U
–2

S
–2

Q

90. (d) Smokeéôé~îû šþöìœ Pollution £ëûÐ
~„þ£z¦þyöìî– Wars ~îû šþöìœ Destructioné é£ëûÐ

91. (a) 5 × 5 + 2 = 27

~„þ£z¦þyöìî– 9 × 9 + 2 = 83

92. (b) E D A

BC

10 km 10 km

10 km

5 km

AE = AD + EO = (5 + 10) = 15 km
93. (b) ‡!vþüöì“þ ‡ ù̂Ýþy ç !›!˜öìÝþîû „¤þyÝþy þ™îûßþ™öìîûîû vþzþ™îû ~„þöìe

íy„þöìî– xíÅyê 0º ö„þï!’„þ ›y˜ ¢,!ÜT „þîûöìî– 1 Ýþy ç 2 öÝþyîû
›öì•ÄÐ

11
So, 0º min 30 H

2
  

11
0º min 30 1

2
  

11
min 30 0

2
 

30 2 60 5
min 5

11 11 11


  

So, 1 Ýþy
5

5
11

 !›!˜öìÝþ 0º ö„þy’ ¢,!ÜT £öìîÐ

94. (c)

95. (c) a = 3, x = 5 •îûöìœ 3 ˜‚ e«!›„þ x˜%ëyëû#éôôôé
3 + 5 = 8
32 + 5 = 14
33 + 5 = 32
34 + 5 = 86
35 + 5 = 248

96. (b) e«›!Ýþ £œ ƒ + 4, + 6, + 8, + 10.

 !˜öì’Åëû þ™” = 6 + 6= 12.

97. (b) e«›!Ýþ £œ ƒ
1 1

2, 1 , 2, 1 ,.....
2 2

   

 !˜öì’Åëû þ™” = 27 × 2 = 54.

98. (c) ²Ì”_ ö×!’îû þ™” ƒ 2 × 02, 2 × 12, 2 × 22, 2 × 32....

 !˜öì’Åëû þ™” = 2 × 42 = 32

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å



7Achievers
99. (b) (6 – 3) × (5 – 1) = 12

(8 – 3) × (7 – 3) = 20

(6 – 3) × (7 – 2) =

100. (a) ›y

101. (b) 20/6/2006 ¢yœ öíöì„þ 20/12/2006 þ™ëÅhsþ ö›yÝþ !”˜
10 + 31 + 31 + 30 + 31 + 30 + 20

= 183 !”˜  1!Ýþ  Odd day

 ›Dœîyîû + 1 = î%•îyîûÐ

102. (a)

~„þ£z¦þyöìî

103. (c)

 ²Ìí› öíöì„þ 17“þ› îöì’Åîû îy›!”öì„þîû ˜î› î’Å

= ²Ìí› öíöì„þ (17 – 9)“þ› î’Å

= 8“þ› î’Å = A

104. (b) (5 1) (4 2)    = 5 × 6 = 30

105. (a)
˜#œ

„þyöìœy

î’Å

¢î%‹

106. (b) A E B

OG

C F D

¢îûœöìîû…y=!œ £œ éôôôéAB, GO, CD, AC, EF, BD,
BO, DO, AO, CO, AD, BC

¢%“þîûy‚ ö›yÝþ ¢îûœöìîû…yîû ¢‚…Äy 12Ð

107. (b) 112 – 12 = 120
72 – 22 = 45
52 – 32 =

108. (b) ²ÌÙÀ x˜%ëyëû#éôôôé

12 6 3 2 8    
= 2 – 3 × 2 + 8 = 2 – 6 + 8
= (2 + 8) – 6 = 4

109. (a)

¦þy£z
~„þ›ye „þ˜Äy

~„þ›ye „þ˜Äy~„þ›ye þ™%e ~„þ›ye þ™%e

›y›y

A

CD B
¦þy£z

M N

~„þ›ye „þ˜Äy

H

G

~„þ›ye þ™%e

E

²Ì”_ !‰þe!Ýþ !˜öì”ÅŸ „þîûöìŠé G, C-~îû ~„þ›ye þ™%eÐ B, G-~îû
›y›yÐ

110. (a)
îyîy ›y

R
+

M
–

N

111. (d)

vþz_îûéôéþ™!Øþ›
vþz_îûéôéþþ™)îÅ

vþz_îûé

þ™)îÅ

xyîû½þ
ßþiœ

vþz_îûé

þ™)îÅþ™!Øþ›

”!Çþ’

112. (b) „þyîû’éôôôé 52 + 5 = 30, 62 + 6 = 42 : : 72 + 7 =
56 : 82 + 8 = 72
xíÅyê ö„þyöì̃ y ~„þ!Ýþ ˜Áºöìîûîû îöì†Åîû ¢öìD ˜Áºîû!Ýþ öëy† „þöìîû
¢›hßþ ˜Áºîû=!œ þ™yçëûy ö†öìŠéÐ

113. (c) „þyîû’éôôôé

12Km

6Km

6Km

8Km vþz_îûé

þ™)îÅþ™!Øþ›

”!Çþ’

öŸ¡ì xîßþiy˜

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å



xÄy!‰þ¦þy¢ Åî¡ìÅ éôé 12– £z¢%Ä éôé 5  ö¢öì²WzÁºîû– 20248

2 28 6

64 36 

100
10 Km

114. (c) „þyîû’éôôôé ~„þ£z¦þyöìî

C
O
U
N
T
R
Y

E
M
W
L
V
P
A

+2

–2

+2

–2

+2

–2

+2

E
L
E
C
T
O
R
A
T
E

G
J
G
A
V
M
T
Y
V
C

+2

–2

+2

–2

+2

–2

+2

–2

+2

–2

115. (a) ²Ìí› öÇþöìe Ÿ·!Ýþîû !îþ™îû#“þ e«›!Ýþöì„þ ö„þyvþ !£¢yöìî îÄî£yîû
„þîûy £öìëûöìŠé “þy£z !m“þ#ëû öÇþöìeç ~„þ£z¦þyöìî– xíÅyêéôôôé

P

E

N

C

I

L

L

I

C

N

E

P

   ~î‚ I

N

K

P

O

T

T

O

P

K

N

I

116. (b) 62 = 4 × 9 = 36
or, 122 = 9 × 16 = 144 or, 202 = 16 × ?

220 400
? 25

16 16
   

117. (c) „þyîû’éôôôé
2 × 8 = 16 16-28
8 × 4 = 32 32-84
7 × 7 = 49 49-77
5 × 2 = 10 10-52 £çëûy vþz!‰þ“þ !Šéœ–

xyöìŠé 12-52

118. (b) „þyîû’éôôôé

x!›“þ
S~„þ›ye þ™%eV

þ™%e S¢%›˜V

x!›öì“þîû öîy˜

119. (c) „þyîû’éôôôé
B   A D L O W
2nd 1st 4th 12th   15th  23rd
2 + 1 + 4 = 7 12 + 15 + 23 = 50

5 + 0 = 5
120.(c) „þyîû’éôôôé ~…yöì̃  ”%!Ýþ series xyöìŠéÐ

52 – 1 = 24, 42 – 1 = 15, 32 – 1 = 8,
22 – 1 = 3, 12 – 1 = 0

P R
+2

T
+2

V
+2

X
+2

——————

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å


